WSDC 2011 England vs Scotland
This house supports free immigration
Government (England)
Teamline: denying the right of free movement harms individuals and society
1. Right to move 
-Equality ignores boundaries/ needs and desire outweighs restrictions, unless it harms society as whole or other individuals. 
-Immigrants accept the rules and contracts of the country, and denying the right to accept that contract is forcing them to an illegal immigrant

2. Achieving benefit of immigration 
poi) explain what would happen if all the professionals move out of the country due to their desire ->may return back, balancing out 
-illegal immigration 
-immigrants actually pay taxes; positively contributing to the society

3. Cultural benefit
-combating prejudice, the opposition creates shadow image of immigrants, therefore actually creating prejudice against them. This makes immigrants feel not qualified or welcomed. 
-welcoming and understanding the immigrants as the part of the country will allow them to overcome the prejudice and develop the country. 

Opposition (Scotland)
Teamline: unchecked immigration harms the countries that the immigrants move to and the countries that they leave behind
<Refutation /rebuttal>
-clarification on whether they would still let people with criminal records / by proving that there is harm to the country, this argument can be defeated. 
 Registration process: knowing who is in the country, getting them on the appropriate registers, documents. 
-immigrants might not always have the purpose to benefit the country, rather, some might move for their own benefit. 
Having huge influx of immigrants reduces the whole quality of public services for everyone in the country. 
Immigrants live paying the same taxes, contributing as much as you do to the society, and getting the same services. Limiting immigrants isn’t the interest of the citizens, but rather it makes the country stronger, and diverse. 
-Clarification on how much is too much of immigration. 
-On the point where the opposition argue that the state has no idea of what how many people get in an out, by implicating the transitional period and getting the basic registration, country can solve these problems. 
it will actually create lots of new jobs since people need services. 	
<Argument>
1. It is state duty to limit immigration
-primary function of a state is to protect its population, in both economic and social ways.
This includes protecting their own interest, by paying taxes, and election. In order to do this, state should be able to control its orders. It is, being able to keep track of the immigrants, consequently planning economically. 
Poi) immigrants pay tax ->under free immigration, state has no idea of how many people are coming into the country. Also, workers that come in are low-skilled workers, that aren’t going to contribute much on the economy. 
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2. Harms of free immigration 
-in jobs market, huge supply of unskilled workers will lead to higher unemployment, leading to bad effect for people in that country. It is hard for country to plan economically, since the country has no track of how many people are going in and out. 
-coming in with huge families will lead to housing problems, health, education problems coming along. Also, social tension will rise up. (race related crimes)
 
3. Unchecked, free immigration starves the developing world
-Bosnia, great education services but is titled as developing country due to its economic stance, lacking jobs of professionals.
-makes countries more dependent of outside world, not actually developing their own economy, while the correct route of developing a country is by training their own professionals, and skills.  

